Physics 364 / 564

Reminder:

Lecture: Mondays only, 2-3:30

Labs: Mondays & Thursdays, 5-9pm
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Note:

AAA battery is a bit less
weak than | thought. Its
internal resistance is about
0.2 — 0.3 ohms, according
to a vendor data sheet. So
1.5 ohm would have been
a better choice here than
7.5 ohm.
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Sample Lab Reports

| did 2/5 of Lab 1; Jose did 4/5.

Ntt
Ntt

Note that Jose will be grading the reports ....

- | would have given my own report (if 5/5 done) an A-
- Jose would have given his own report (if 5/5 done) an A-
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http://positron.hep.upenn.edu/pet/wiki/index.php/User:Ashmanskas/p364/lab_1_notebook
http://positron.hep.upenn.edu/pet/wiki/index.php/User:Ashmanskas/p364/lab_1_jose

Series and parallel resistors, mesh currents, node voltages, Thevenin
and Norton. (a) Write down the equations for the mesh currents /;_4 in
figure 2.25, but do not solve them. (b) Find the current I3 + 14 supplied
by the battery by simplifying series and parallel combinations of resis-
tors. (¢) Find V7 and V>. (d) Hence find /14 and check them against (a).
(e) Find the Thevenin equivalent of the circuit to the left of AB; use this
to check I4. (f) Find the Norton equivalent of the circuit across the ter-
minals C' D. Use this to check /53 + 14. (g) Find the Norton equivalent of
the circuit to the right of E F'; use it to check I;. (Ans: (a) I3+ 14 = 2 A;
OV =8V; Vo, =8/3V,; ()1 =1/9A; b =2/9A; 13 =2/3A;
Iy = 4/3 A; (e) VEp = 144/14 V, Rgp = 24/14 Q; () Igp = 3 A,
Reo =4 Q2;(g) Iep = 18/19 A, Rgp = 24 x 19/143 €2.)
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Fig. 2.25.

Series and parallel resistors, mesh currents, node voltages, Thevenin
and Norton. (a) Write down the equations for the mesh currents /;_4 in
figure 2.25, but do not solve them. (b) Find the current I3 + 14 supplied
by the battery by simplifying series and parallel combinations of resis-
tors. (¢) Find Vi and V». (d) Hence find /14 and check them against (a).
(e) Find the Thevenin equivalent of the circuit to the left of AB; use this
to check /4. (f) Find the Norton equivalent of the circuit across the ter-
minals C D. Use this to check /5 + I4. (g) Find the Norton equivalent of

the circuit to the right of £ F'; use it to check /.



